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IKJML?N�OQP1RQP1SUT�V�W�XBY�XBZ [�\^]�_0Z�X`_aXcbd\^]d[�e&fHe�g	h(X

f(x) : (−1, 1) → R

fHXji(]H\^Y	_�f(_

f(x) =







xasen2(x) k X 0 < x < 1
0 k X x = 0

| x |bcos2(1/x) k X −1 < x < 0

k \l_agmen]QY \^]?o�_
IKJML?N�OQP1RQP1Sqp�V�WK\^Z�X k X�rl_`s+oH]Htm\uen](X

tg(x) v gmen]QY \^]?o�_�\^]
x = π/2

IKJML?N�OQP1RQP1Sxw�V�y?Y	_0bH\^r^\^Z�X k Xzrl_cs+oH]Htm\uen](X k XB{|](e f(x) = x

|x|
v gmen]?Y \^]Qo�_a\^]

x = 0
X|}

k Xcf:\ k gmen]QY \^]?o�_:}6f:\^Z�Xcf:\!g	h(X�f:\ k gmen]?Y \^]QoH\^Y	~ k \�Y Z	_0Y Y	_:�
IKJML?N�OQP1RQP1S���V�y?Y	_0bH\^r^\^Z�X k X�rl_2s1oH]Htm\uen](X

f(x) = sen(x)
x

v gmen]QY \^]?o�_�\^]
x = 0

}�X
](XBr�gM_ k ea](en]�rue k \l_af:\^Z�X k X�rl_�f:\ k gmen]QY \^]?oH\^Y	~ v XBr^\^[�\^]�_0bH\^ruX|�
IKJML?N�OQP1RQP1Sq��V�WK\^Z�X k X�ruX k XB{|o(XB]?Y \�s+oH]Htm\uen]H\ k en](eaoH]H\�s�enZ [�XB[�XB]QY�X�gmen]QY \^]?o(X|�

� \<�
f(x) = ex se x ∈ (−∞, 1) �

� \^\<�
f(x) = x2ln(1+x2

x2 ) k X x ∈ [1,∞), [1, 2], (0, 1] �
� \^\^\<�

f(x) = arctan(1/x) se x ∈ (−1, 0) ∪ (0, 1)
�

IKJML?N�OQP1RQP1S���V�y?\l_
P (x) =

∑

n

k=0 akx
k

oH]4��enr^\^](en[�\ue�_�gme&Xj��gB\uXB]QY \�Z�XM_0r^\@f:\@{|Z	_��
fHe���_0Z \ ��k X a0 < 0

X
an > 0

f:\^[�e k Y Z	_0Z�X�g	h(X�� �<� ��_0[�[�XBY Y�X`_0r^[�XB](e4f:o(XcZ	_nf:\ugB\�}
oH]�_��@e k \^Y \^�|_aX�oH]�_a](XB{Q_0Y \^�|_:�
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IKJML?N�OQP1RQP1S��@V�� XBZ \�i�gM_0Z�X k X ruX k XB{|o(XB]QY \(s+oH]Htm\uen]H\ k en](ecoH]H\�s�enZ [�XB[�XB]QY�Xzgmen]QY \^]?o(X|�

� \<�
f(x) = xe

x

|x| k X x ∈ [−1, 0) �
� \^\<�

f(x) = x log x k X x ∈ (0, 3] �
� \^\^\<�

f(x) =
√

x k X x ∈ [0,∞) �
� \^�(�

f(x) = 3
√

x k X x ∈ [1,∞) �
� �(�

f(x) = x + sin x2

x
k X x ∈ [1,∞)

�

IKJML?N�OQP1RQP1S���V WK\^Z�X k X ruX k XB{|o(XB]?Y \?s+oH]Htm\uen]H\ k en](eKgmen]QY \^]Qo(X|}Q\^](f:\^�?\uf:o(XBZ ](X ruX XB�>XB]:�
Y o�_0r^\�f:\ k gmen]QY \^]?oH\^Y	~�XcfHe �>X���e k�k \^bH\^ruXcXBr^\^[�\^]�_0Z ruX|�

� \<�
f(x) = sin 1

x

��XBZ
x = 0 �

� \^\<�
f(x) = x2+x−2

2x2+x−3
k o�� �

� \^\^\<�
f(x) = ex−1

x
k o�� �

� \^�(�
f(x) = 2x

sin 3x
k o�� �

� �(�
f(x) =

{

sinx

x
k X x > 0

1 + x k X x ≤ 0

IKJML?N�OQP1RQP1S���V W�XBY�XBZ [�\^]�_0Z�X���XBZ��?o�_0r^\H�|_0ruenZ \�f:\
a

ruX k XB{|o(XB]?Y \Hs1oH]Htm\uen]H\ k en](ecgmen]:�
Y \^]?o(X|�

� \<�
f(x) =

{

2x + 1 ∀ x ≥ 0
ax − 3 ∀ x < 0

\^]�� �
� \^\<�

f(x) =

{

x2 + 2ax + a ∀ x > 0√
x + 2 ∀ x ∈ [−2, 0]

\^]
x = 0
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